
scan (ne,Ti), f
T
=0.4, f

1
=0.9, f =1, B[T]=10, R

w
=0.95, 

E
[s]=50, p-11B Sikora16

0.10.10.1
0.1

0.1

0.
1

0.
1

11
1

1

1

1

2
2

2

2

2

5

5

5

5

10

10

10

10

100

100

1

1

1

1

1
1

10

10

10

10

10

50

50

50 100

0.05
0.05

0.1

0.1

0.1
0.1

0.5

0.5

0.5

0.5

0.5

1

1

1

1

1

1
1

10

10

10

10

1
1

1

1

1

10

10

10

10

10

0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

n
e
[m-3 <1, Q>1, P

fus
>1MW/m3 1021

50

100

150

200

250

300
T

i[k
eV

]

Q
fus

P
fus

[MW/m3]

P
brem

[MW/m3]

P
cycl

[MW/m3]


